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MASTER OF ARTS (HISTORY) 

Term-End Examination 

12932 	June,2014 

MHI-02 : MODERN WORLD 

Time : 3 hours 	 Maximum Marks : 100 

(Weightage 70%) 

Note : Answer any five questions in about 500 words 

each. Attempt at least two questions from each 

section. All questions carry equal marks. 

SECTION I 

1. What were the salient features of the 
Enlightenment ? 	 20 

2. Define State. Critically evaluate the Liberal 
theory of State. 	 20 

3. What are the kinds of challenges confronted by 
democracy in modern times ? 	 20 

4. What are the main features of 
under-development ? Answer your question by 
picking an example of an under-developed 
country. 	 20 

5. Write a note on the process through which large 
parts of the world came under European 
domination. 	 20 
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SECTION II 

6. How did a nation-state system develop in Europe 

in the 19th  century ? 	 20 

7. How did the French Revolution influence the 
modern world ? 	 20 

8. In what ways is modern warfare different from 
pre-modern forms of war ? 	 20 

9. Discuss the impact of modern economic 
development on the environment. 	 20 

10. Write short notes on any two of the following in 
about 250 words each : 	 10+10 

(a) Romantics 

(b) War Communism 

(c) The Cold War 

(d) The Welfare State 
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